B34F1

T
F
QDO o R M
al = MOLL - MOTOR % 8 a
lo 9] DH
= — 5
E C B
L

BaugrdRe Pole

2/4 90 3 115 110 156 M4x12
63M 2/4 100 50 80 40 11 23 4 8,5 63 7,0 75 60 90 MS 2,5 135 130 115 180 230 M4x12
71M 2/4/6 112 56 90 45 14 30 5 110 71 7,0 85 70 105 M6 25 150 145 127 195 255 M5x12
80M 2/4/6/8 125 62,5 100 50 19 40 6 155 80 10 100 80 120 M6 3,0 165 158 140 220 300 M6x16
90S 2/4/6/8 140 70 100 56 24 50 8 200 9 10 115 95 140 M6 3,0 180 177 160 255 330 M8x19



Milan
Obdélník




